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Monthly averaged wind velocity by MF radar at Tromsoe for October 2005

North East

mean sigma = 19.682

0    4    8    12    16    20    0
-100

-50

0

50

100
mean sigma = 20.190

0    4    8    12    16    20    0
-100

-50

0

50

100

100km

mean sigma = 19.170
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mean sigma = 17.970
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mean sigma = 17.990
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mean sigma = 16.230
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mean sigma = 16.654
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mean sigma = 17.058
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mean sigma = 16.971
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Monthly averaged wind velocity by MF radar at Tromsoe for October 2005

North East

mean sigma = 16.115
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mean sigma = 13.932
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mean sigma = 12.693
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mean sigma = 13.679
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